SHEET: REVISIONS
MODELS AVAILABLE (CLOPAY/ HOLMES/ IDEAL) 1 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
MODELS 524, 520/ 224/ C4ST, COST ﬁg I oa;’zu'm == SH - REMOVED WIND SPEED TABLE
INSULATED MODELS 524S, 520S, 524V/ 224S/ C4SS, CO0SS, C4SV
[MUMBER DF
DOOR WIDTH CENTER
STILES
UP TO 9'-2° 1
| 9'-3" THRU 12'-2* 2
END STILE
+—a
1
| e = N
- VIEW "B"
# * # # # [AT VIEW "C"
C # e Fod
e # # # * # OPTIONAL GLAZING MUST BE DSB OR BETTER AND IS NOT
v IMPACT—RESISTANT. ONLY SOLID DOORS ARE IMPACT RESISTANT.
A | MAXIMUM GLAZING SIZE (DLO) IS 21-5/8"x9-5/8". SEE
SECTION B—B ON SHEET 2 FOR DETAILS.
GLAZING MAY BE INSTALLED IN TOP SECTION (NOT SHOWN) OR
INTERMEDIATE SECTION (SHOWN).
MIN. TWO POINT
LOCKING REQ'D.
: : U—-BAR. SEE SECTION A-A FOR
- - MOUNTING DETAILS AND
[ T e N SPECIFICATIONS.
— MAX., DOOR WIDTH: 10-2*
v |NUMBER OF #14x5/8" SHEET METAL SCREWS
DOOR HEIGHT *A" |"c2eT As
UP TO 8-0" 4
8°-3* THRU 10°-0" 5
10'-3° THRU 12°-0” 6
12-3" THRU 14°-0° 7
14°-3" THRU 16°-0° 8 1/4"x3/4" SELF
16'-3" THRU 18°-0° 9 TAPPING SCREWS.
14 GA. END HINGES 14 GA. (MIN.) INTERMEDIATE HINGE
VIEW "B" MEW "C"
SNAP LATCH ENGAGES
ONTQO VERTICAL TRACK. END
GHE SHAR LATCH- DN RS MANUFACTURING PRODUCT CODE
SLIDE BOLT LOCK EAGH SIRE OF DEROR; C-PAN-1E448
END o eb AN DESIGN LOADS: +37.0 P.SF. & —44.0 PSF
STILE. EEHET'ES'&KT%?K' CUTSIDE TEST LOADS: +55.5 P.S.F. & —66.0 P.S.F. PART NO.: N/A
EACH SIDE OF  qurSioE HAMDLE. LOCK BAR Unless Stated Otherwise -I}I f‘ﬁss Dﬁ'ﬁeatggfﬁﬂﬁsr.g WINDLOAD RATING
DOOR. END ENGAGES IN | TOLERANCES ore |\ 0[’33‘ Tel. No. 513-770-4500
KEYED STILE TRACK ON Buikding Producls C Fox No. 513-770-4853
HAMDLE. . EACH SIDE 0= .03 uilding ucls Company ox No.
OF DOOR. 0'33 = ig;g DESCRIPTION: ~COMMERCIAL RIBBED DOORS UP TO 10'2"W (SEE TABLE)
INSIDE SLIDE 8OLT INSIDE HANDLE 000 = . 3 S = s
LOCK OPTION. ORI KESEEToeN T QUTSIDE KEYED LOCK WITH 0000 = +.001 DRAWN BY: SH DATE: 1/10/1 SCALE: e
MARK WESTERFIELD, Pagay £ SNAP LATCH LOCK OPTION LOCK BAR LOCKING. Dégees. - 1A JGHEQKED Bis e DATE: 1/10/14 |SHEET 1 OF 4 [SIZE
. (x = . S [} wi
FLORIDA P.E. §48405, NC P.E. #23832, TEXAS P.E. #1513 |Dwiiisons an i icres. [DWG. NO.: 102445 — A/B il
4 3 - 2 | 1



: | 5 - 2 :

SHEET: REVISIONS
ﬂgggi g\i{m{%g/r{_:‘sziF/)AYCX;SF%DLCMgSST; IDEAL) 2 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
: ’ 09 = - = - SEE REVISION HISTORY ON SHEET ONE.

INSULATED MODELS 524S, 520S, 524V/ 224S/ C4SS, C0SS, C4SV

IMPACT—RESISTANT CONSTRMETION:
SOLID DOQRS (MO GLAZING) ARE IMPAC

LIANCE WITH THIS SECTION MEETS THE

B THE ENTIRE DOOR ASSEMBLY INSTALLED IN
LDING CODE AMD INTERNATIONAL BUILDING

WIND LOAD REQUIREMENTS OF THE FLORID
CODE AMD IS LARGE— AND SMALL—MISSI

STANDARD ASSEMBLY CONSTRUCTION:
OPTIONAL LITES WITH DSB OR TEMPERED INSULATED GLAZING AVAILABLE.

THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
OR INTERMATIOMAL BUILDING CODE BUT DOES NOT MEET THE IMPACT RESISTANT REQUIREMENT FOR WINDBORME DEBRIS REGIONS (REF. CHAPTER 16

FBC/IBC).

SECTION B-B
(NON—IMPACT—RESISTANT
CLAZING OPTION)

——
Z PAM HEAD

SCREW
PAN HEAD
Y SCREW
_/
OUTSIDE
B 1\\=-iNS[DE
FRAME

DESIGN ENGINEER:
MARK WESTERFIELD, P.E.
(FLORIDA P.E. #48495 NC P.E. #23832, TEXAS P.E. #91513

STANDARD ASSEMBLY DETAILS
DRAWING 102445-B

MANUFACTURING PRODUCT CODE

C-PAN-1E448

DESIGMN LOADS: +37.0 PSF. & —44.0 P.SF.

W

L)

g T

“l.
\
AT o

‘A
i
.

£y

TEST LOADS: +55.5 P.5.F. & —-66.0 P.S.F.

PART NO.: N/A

Unless Stoted Otherwise - nl 3555 Daﬁe‘g&uﬁevl%g WINDLOAD RATING
TOLERANCES o | umm WOPAY 1555 315550085 W 6 D P 3 /
0 = +.03 Bulding Producls Compony Fox Mo. 513-770-4853
ﬂ-gg = i-gég DESCRIPTION: COMMERCIAL RIBBED DOORS UP TO 10'2"W (SEE TABLE)
d = £,
0000 = +.001 |DRAWN BY: SH DATE: 1/10/14 |SCALE: NTS OWG.
Degrees = +1/2° |cHECKED BY: SH DATE: 1/10/14 |SHEET 2 OF 4 |SIZE
S Wi
MRS Oare R Toiis | DWG. ND: 102445 — A/B VER: TDI

4 3



4 ‘ 3 + 2
SHEET: REVISIONS
MODELS AVAILABLE (CLOPAY/ HOLMES,/ IDEAL) 3 0OF 4
REV. NO.| ZONE: DATE: ECN NO. [ APPVD: DESCRIPTION
MODELS 524, 520/ 224/ C4ST, COST 09 _ SEE REVISION HISTORY OM SHEET OME
INSULATED MODELS 524S, 520S, 524V/ 224S/ C4SS, C0OSS, C4SV
. JAMB TO SUPPORTING STRUCTURE ATTACHMENT e T e g
B /_ {NO LOAD FROM DOOR) NOTES: OF 12 GA. GALV. STEEL, INSTALLED
T :}} 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO SECTIONS ARE 1-7/8° THICK ON DOOR WITH {4) #14 X 5/8" LG
. " THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS PANELS ROLL FORMED OF SHEET METAL SCREWS
A, TRANSFERRED TO THE HORIZONTAL (TOP) JAMB. .022* MIN. HOT DIPPED G-40
2. EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +1B5 LB & -220 LB. PER LINEAR GALWANIZING, ROLL FORMED \
FOOT OF JAMB, STEEL.
3. ALL JAMB FASTEMERS MAY BE (BUT ARE MOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A
FASTENER FLUSH MOUNTING SURFACE.
TYPE 4, A 1/3 STRESS INCREASE FOR WIND LOAD WAS MNOT USED IN THE CALCULATION OF ALLOWABLE
by LOADS FOR ANCHORS AND FASTEMERS FOR STEEL, CONCRETE AND MASCNRY.
MAX. 0.C. NOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUOUS ANGLE MOUNT TRACK. HOWEVER,
IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1-1/2" AND INSTALLED DIRECTLY
. THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTQ THE STEEL JAMBS OR CONCRETE OR BLOCK
WALLS, ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A FLUSH
MOUNTING SURFACE. CONTINUQUS ANGLE TRACK CAM BE ANCHORED DIRECTLY TO GROUT
2x6 VERTICAL JAMB REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMN OR STEEL JAMBS.
/- \ y END HINGE. SEE DETAILS
A . TONGUE & GROCWE JOINT. AT WVIEW "B" ON SHEET 1.
{3 MEWE
1_},%1:. 3" TALL 50 KSI U-BAR
20 GA. GALY. STEEL. 3" x 20GA. STEEL U-BARS IN A 2-1-2-1
L PATTERN, STARTING WITH THE SOTTOM SECTION.
ATTACHED WITH {2) 1/4"«3/4" SELF-TAPPING
SCREWS PER HINGE LOCATION. (SEE VIEW "E")
{2) STACKED LHR BRACKETS USED
AS INMER BOTTOM BRACKET (NOT
SHOWN).
Sl e B BOTTOM ROLLER BRACKET OF 12 GA.
EXTRUSION WITH INTEGRAL MIM. GALV. STEEL, FASTEMED WITH
RETAINER FOR FLEXIBLE VINYL {S’E}E é}; X 5/8" LG SHT. MTL.

DESIGN ENGINEER: .~
MARK WESTERFIELD, P.E.

FLORIDA P.E. #48495, NC'P.E. #23832, TEXAS P.E. #91513

FASTENER ATTACHMENT TO SUPPORTING STRUCTURE SCHEDULES ASTRAGA-
MAXIMUM
- R
it e SECTION A—A (SIDE VIEW)
BETWEEN |, |WASHERS
BUILDING TYPE FASTENER TYPE FASTEMERS " |REQUIRED?
HOLLOW BLOCK WALL 1/4" % 1-1/4" MIN. EMBED ULTRACOM COMCRETE ANCHOR g" 1" 0.D.
GROUT FILLED BLOCK WALL [1/4” x 1-3/4" MIN. EMBED ULTRACOM CONCRETE ANCHOR 14-3/4" 11" O.D. MANUF ACTURING PRODUCT CODE
2000 PSI_WMIN. CONCRETE [ 1/%° x 1" MIN, EMBED ULTRACON CONCRETE ANCHOR 12-3/4"__| 1" _0.D.
2000 PSI MIN. CONCRETE [ 1/4" x 1~ MIN. EMBED TAPCON CONCRETE ANCHOR 1" 1" 0.. C-PAN-1E448
2000 PSI MIN, CONCRETE | 3/8" x 1-3/4" MIN. EMBED WEJ-IT ANKR TITE SLEEVE ANCHOR 24" INCLUDED DESIGN LOADS: +37.0 PSF. & —-44.0 PSF. PART NO.: N/A
4000 PSI MIN, COMCRETE |3/8" x 1-3/4" MIN, EMBED WEJ-IT ANKR TITE SLEEVE AMCHOR 24" INCLUDED TEST LOADS: +55.5 P.S.F. & —-66.0 P.S.F. < N/
« FRAM - YP 0,55 jsc 1; " x 3" REW (ASTM A307, GRADE A) 1-5/8" EMBED INTO STRUCTURE 24" ,.r :" g—g- Unless Stated Otherwise | [l ﬂass Daﬁqug*uéeuiluég WINDLOAD RATING
- [14GA STEFL (0.060" MIND [1/4"—14 » 1° |TW BUILDEX TEKS SELF—DRILIING FASTENER 12=1/4" " 0.0. A I}I bson,
:[12CGA STEEL (0.105" M) [1/4"—14 « 1~ ITW BUILDEX TEKS SELF-DRILLING FASTENER 21-1/2" |1 GO0 TRERANEE e ] ﬂpay Il e L w 6 D P 3 7
- [1/8" STEEL 1/4"—14 « 1" |TW BUILDEX TEKS SELF-DRILLING FASTENER 24" 1" 0.0, 0 = +.031 |Building Producls Company Fou Mo, 513-770-4B53 o
* FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED S e DESCRIPTION: (COMMERGLE RIBRED DOOFS UF J9 19 2"W (SEE TABLE)
AT LEAST AS HIGH AS THE DOOR OPEMING, ot - SH : 1/10/14 ALE: NTS
CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS. 0000 = +.001 ERANN G, & DEIE: B0 o6 DING,
MINIMUM DISTANCE BETWEEN CEMTER OF AMCHOR AND EDGE OF COMCRETE BLOCK: 2-1/27, EXCLUDING STUCCO THICKNESS. Degrees = +1/2 CHECKED BY: SH DATE: 1/10/14 |SHEET 3 OF 4 |SIZE
Unl Stated Oth i
DIMENSIONS #RE IN INCHES.|DWG. NO.. 102445 — A/8 |veR: ToI

4

3 -,




- [ 3 * =
SHEET: REVISIONS
Egggtg g;ilbﬁgég f%;iPAY; ?DLMES! REEL) 4 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
, / o CAST, BOST b _ Z - SEE REVISION HISTORY ON SHEET ONE.

2" TRACK CONFIGURATION
DOORS UP TO BOO LBS.

NOTE DOUBLE TRACK
HEADROOM, HI-LIFT TRACK,
FOLLOW-THE- ROOF
TRACK, AMD WERTICAL LIFT
TRACK ARE AVAILABLE
QOPTIONS.

]

TRACK CONFIGURATION
ABOVE THE DOOR OPEMING
DOES NOT AFFECT THE
WIND LOAD RATING.

OPENING HEIGHT = DOOR HEIGHT

INSULATED MODELS 5245, 520S, 524V/ 224S/ C4SS, COSS, C4SVv

HORIZONTAL TRACK

SUPPQRT BY DOOR
INSTALLER (TO sun}# 5O0R

DOOR COUNTERBALANCE SYSTEM HEGHT | L
- - - - E!_Elr ?Dn
13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 7'-0"| 767
JAMB WITH (3) 5/16" X 1-5/8" LAG SCREWS 7 -6"] 82"
AND TO TRACK WITH {2) 1/4" RIVETS. 8 -0"] 88"
8'-6"| 94"

& g'-0"[100"

AS ROD: SPACING NTE 30" Q.C. 9 —6" 108"
10-071112"
62"+4"__ 2" GALV. STEEL TRACK, _ }?._g.. : ;EE"
TRACK THICKMESS: 0.060" 11'-6"[130"
12°-0"[136"
12'—6"]142"

13 —-0"[148"

VERTICAL TRACK TO BE BRACKET 13 =6"1154"

MOUNT QR CONTINUOUS ANGLE 14 =0 1160
{1=3/4"x2=1/4"%12 GA MIN.) 14 -6 166"
MOUNT. ALL BRACKETS/TRACK 15 —0"1172"
CLIPS ARE 12 GA. GALV. STEEL. 15 —6"[178"
BRACKETS/CLIPS ARE ATTACHED 16 —0"[184"

TO TRACK WITH EITHER TwWO 1/4" 16'—-6"|190"

RIVETS OR OMNE 1/4" BOLT AND 17 -0"[196"

NUT. 17'—6" 202"
18'-0"|208"

JAME COMFIGURATION
DOORS UP TO 800 LBS.

BRACKET MOUNT JAMB COMFIGURATION

1" DOOR OVERLAP (EACH SIDE)

2x6 SYP WOOD JAMB.
REQUIRED FOR BRACKET
MOUNT,

OPTIONAL STOP MOULDING
BY INSTALLER (TQ SUIT).

18 GA GALV. STEEL
SINGLE—EMND—STILE
FASTENED WITH
TOG-L-LOC SYSTEM
AT TOP, BOTTOM AND
CENTER.

ANGLE MOUNT JAMB COMFIGURATION

18 GA. MIN, GALV. STEEL
INTERMEDIATE STILE
FASTENED TO DOOR SKIN
WITH TOG—L-LOC SYSTEM
AT TOP, BOTTOM AND EACH
MAJOR RIB. —

2-1/2" X 12 GA GALV. STEEL
TRACK BRACKETS FASTENED TO
WOOD JAMBS WITH 5/6" X
1-5/8" LAG SCREWS NOT TO
EXCEED 30" ON-CENTER.

2" GALV. STEEL TRACK FASTENED TO
12 GA GALV STEEL TRACK BRACKETS
WITH EITHER (2) 1/4" DIA. RIVETS OR
(1) 1/4" X 5/8" BOLT & NUT PER
TRACK BRACKET.

PREPARATION

s —

226 SYP JAME (IF PRESENT;
SEE JAMB NOTES ON SHEET 3).

ONE S5/16" » 1-5/8" LAG
SCREW SPACED AT THE SAME
DISTANCES AS THE TRACK BOLTS

(ILE. 3-1/2" 10", AND EVERY

\12"}. ALSO TWO LAG SCREWS
LOCATED ABOVE VERTICAL -

HORIZONTAL TRACK JUNCTION,

7/167 1.0, ROUND
PUSH NUT
FASTENER.

14 GA. GALV. STEEL ROLLER

14 GA. GALV. STEEL CENTER HINGE
FASTEMED TO INTERMEDIATE STILE W/(4)
EACH #14x5/8" SHEET METAL SCREWS.
HINGES FASTEMED TO END STILES W/(4) EACH #14x5/8"

SHEET METAL SCREWS AND (2) 1,/4" SELF TAPPING SCREWS PER END HINGE.

2" DIA. SHORT STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.

TION C—

OF JAMBS BY QOTHERS.

3" TRACK COMFIGURATION
DOORS 800 LBS AND OVER.

NOTE DOUBLE TRACK
HEADRCOM, HI-LIFT TRACK,
FOLLOW-THE— ROOF
TRACK, AND VERTICAL LIFT
TRACK ARE AVAILABLE

CENTER HANG REQUIRED FOR

| / DOCRS OWER B’ HIGH,

JAMB CONFIGURATION
DOORS 800 LBS AMD OVER.

1" DOOR OVERLAP (EACH

2x6 SYP JAMB (IF PRESENT;

SIDE)

LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS. NOTE THAT LHR BRACKETS ARE ALSO
USED WITH "DOUBLE END STILE™ AS SHOWN IN
ZONE B-3 SHEET 1.

TRACK

DOUBLE TRACK
LOW HEADROOM OPTION
(AVAIL. FOR BOTH 2" AND 37 TRACK)

DOUBLE HORIZONTAL
TRACK.

QPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).
18 GA GALV. STEEL SINGLE-END-STILE FASTENED

B OPTIONS. / -
TRACK CONFIGURATION 3 GALV. TAPERED STEEL TRACK AND ANGLE. TRACK SEE JAMB NOTES ON SHEET 3). “Ssummsomssmsnony
ABOVE THE DOOR OPENING THICKNESS: 0.101", ANGLE THICKNESS: 0.080". HORIZOMTAL TRACK ,, {M WITH TOG-L-LOC SYSTEM AT TOP, BOTTOM AND
DOES NOT AFFECT THE | MIN. ANGLE DIMENSIONS 3-1/4" x 2-7/8". ﬁgr:;TETn B{*;GD%?JTT } T CENTER. i .
P EaAR R ™ VERTICAL/HORIZONTAL TRACK " 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED }
T iur:lﬂgmﬁﬂkw{éﬂ‘cﬂ#}ﬁi%gs AMGLE. SEE LAG BOLT MOUNTING AT TRACK | | 14 GA. CALV. STEEL CENTER HINGE
& . CONFIGURATION BELOW, 7/16" 1.D. ROUND FASTEMED TO SECTION W/(4) EACH
- AS RQD: SPACING NTE 30" C.C. BETWEEN TOP VERTICAL ;;—'SST'EN"EL;T #14x5/8" SHEET METAL SCREWS.
= P TRACK MOUNTING SLOT AND VERT./HORIZ. TRACK JUNCTION. '
= a - — 0.101" THICK 3" GALY. STEEL TRACK FASTEMED ;IL{E;- '.‘?_.-A"::-:j g’éﬂ- ;ﬂ-%ﬁa "HigEEET F;E:E:‘ESCRTEWENU
TO TAPERED ANGLE. TRACK ATTACHED TO x
. | ADDITIGNAL MOUNTING SLOTS TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
T SPACED AT 24" CENTERS. NUT AT EACH MOUNTING SLOT.
o 3" DIA. SHORT STEM BALL BEARING STEEL ROLLER.
I
o E{E%% %fgf{mtg”{;m T = MANUFACTURING PRODUCT CODE
S 34" ;_'-g_" ;ﬁ_ PREPARATION OF JAMBS BY OTHERS. C-PAN-1E448
& =
a o GE" DESIGN LOADS: +37.0 P.SF. & —44.0 PSF. )
A S T TEST LOADS: +55.5 P.SF. & -66.0 P.S.F. PART NO.: N/A
ONE. %" TRACK BOLT AND 12°=07 132" Unless Stated Otherwise -nl 8585 Duke Boulevord WINDLOAD RATING
NUT AT EACH MOUNTING 14-0 }gg_ TOLERANCES cre |\l opay s s \N/ 6 D P 3 7
SLOT LOCATION, 1?,:3 o 0 = +£.031 |Building Products Compary Fax Mo, 513-770-4853
i — ¥ ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME 00 = +.015 : o
) 10 16 -0 228 DISTANCES AS THE TRACK BOLTS. TWO LAG SCREWS ALSO LOCATED i DESCRIPTION: COMMERCIAL RIBBED DOORS UP TO 10'2"W (SEE TABLE}
. R i T ABOVE VERTICAL/HORIZONTAL TRACK JUNCTION, 0000 = +.001 DRAWMN BY: SH DATE: 1/10/14 | SCALE: NTS DWG.
DESIGN ENGINEER: .~ __3 T Sl Degrees = +1/2° [CHECKED BY: SH DATE: 1/10/14 |SHEET 4 OF 4 |SIZE
MARK WESTERFIELD, PE.- ©=77F% RS Uniess Sloted Otherwise
FLORIDA P.E. #4B495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE In Ihcres | DWG. NO.: 102445 — A/B VER: TOI




